MPM1D
Day 6: Substitution — Course Intro

Date:

Lesson: Substitution

When an expression includes variables (letters) we can evaluate the expression if we are given
numerical values for the variables. We see this regularly when using formulas.

Example 1:

A =1xw Find the area of a rectangle if the length

if 8cm and the width is 6cm.

= B

A=l n O ((:o.-_f)‘f'“’\
(R)x(¢)
=4¥em®

. The atfea 's U8am®

When substituting, it is important to use brackets = especially if you have integer values.

Example 2:
Evaluate 2x + 1, forx =4

=2()+L
=< +|
=9

* and don’t forget to follow BEDMAS!

Example 3:
Evaluate -7y, fory = -3

~H-3)

Example 5: Evaluate
a(b+2c),ifa=2,b=3,c=5

=2 51«2(?\)]

=2 (%"f IO)
::2( "3)

]

Example 4: Evaluate
a+2b,ifa=8andb=-3

=8+2(-%)

=96
= A

V4

Example 6: Evaluate
a’-2b+c,ifa=-1,b=-3,c=2

(-2 2
~1+6t2

7
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Date:
Day 4: Substitution — Course Intro
Practice: Substitution
Evaluate a-fgivenx=3,y=2,andz=-1 o
a [_j _ z>3 b3 o VX o2 s imab
y) T2 ':(3.!) R S
=4%_9
JOESE), = (30(3.1) s T
2.3x3 = Qo1 =4-19
- 2x2x L 6
~_i?¢ [ {“Z ]
dx+y+z €. Xyz f Xty_ 2 472
()4 (D) (B)(2)(-1) : T T

g. A movie theatre wants to compare the volumes of popcorn in two containers, a cube with edge

length of 8.1cm and a cylinder with a radius of 4.5cm and height of 8.0cm. Which container holds
more popcorn?

Formula: Cube V =s® Cylinder V = zr’h

),
1
\ ¢
€. | "l
3 =?|| = : T,-:S'lq
\/=;8 y S ! (m)f YRR
= (3,1 =(3.14) (4. h=138
=(g.1X8,1)@.1) - (3 uSX4-5)3) The cabe folels
- 53144 - 508,68 o’ o oo becmit
. s volume & (0300’ 1he’
cyc(r'ade/'_c;,

ANSWERS: a) 27/8, b‘)\Ml. ¢)-5/6, Nd)4, e)-6, f)-5 g)thecube
l\ AY N AY)
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